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CRNA-S-COMA

COMMERCE AND ACCOUNTANCY (PAPER-II)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the

space provided. No marks will be given for answers written in a medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer (QCA) Booklet must be clearly struck off.
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WUE—A / SECTION—A

1. frafefaa § & v &1 @mm 150 wsdt & I @ifsrg
Answer each of the following in about 150 words : 10x5=50

(@)

(b)

(c)

(d)

(e)

(b)

(c)

(b)

(c)

" SeagEl vy (Wo o ito) T i aE@m *1” 3@ FuA A =mEm fifg)

“MBO is a mixed blessing.” Elucidate the statement.

e Fifr & fra wem A g, sRw-d1-uwar Sauron F o e 2

Explain how the matrix structure breaks the unity-of-command concept.
A § FaErR R Aftha fatveat % wama ) serenes e fifg)

Critically discuss the impact of personality traits on the behaviour in
organizations.

e g % wufasm & ged § ‘worrefl I9rm’ W e wiaw feogofi foRa)

Write a brief note on ‘systems approach’ in the context of the evolution of
organization theory.

HISHATHE WHIEEeral 1 g ggfodl 1 9ad § qeeEy|

Briefly explain the main systems of organizational effectiveness.

T U R S g e s S A T R i asa R, g A FE s e A

A HE g0 79 FHUA F ATAATHD JedTHA BTG |

“The choice between centralization and decentralization cannot be made in
isolation, none is good or bad.” Critically evaluate this statement. 20

M (viwm) # faequ (feaeiv) & wrol 1 e fifse) @1l § yaeas f Sames
wmAt #§ gur g gaa 4w

Explain the causes of distortion in perception. Give suggestions for improving
perceptual capabilities of managers in organizations. 10+10=20

w8 & whlen IR 6 H GO, TS F) @IN YEH FEwH 2

Briefly review how conflict can provide benefits to the organization. 10

vearen frgra ) geEa @ we il fF = aftea afve s FwEl w afiafa 6 @ #
Ay 3 Tk ~Fan smawEs 9 F@ E

Explain, with the help of the expectancy theory, why a lot of workers are not
motivated on their jobs and do only the minimum necessary to get by. 20

“greTes St wais, favamEl, gedl au1 WHEl w1 98 WHE €, S §18A % 6ewl R
aren fre s #1” we Aife) @eerE @5pfa % GRS U@ AEres gaEl i fEe
#Hifsg)

“Organizational culture is the set of assumptions, beliefs, values and norms
which are shared by an organization’s members.” Explain. Discuss the positive

and negative impacts of organizational culture. 6+7+7=20
ferea faspr it wrafema szt &1 srel=aTes whgn Hifm)
Critically examine the Freudian stages of personality development. 10
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4. (a)

(b)

(c)

frger T whmfea Jga & wwfeEms e & e g fie) 9' e
gie gl au1 FHRy so=re g wfinfea fufews Sy frera @ fra war fim 27

Critically evaluate the contingency theory of leadership propounded by Fiedler.
How is this theory different from situational leadership theory propounded by
Paul Hersey and Kenneth Blanchard? 10+10=20

T T RS (A e RIE) § O a9l Y @Y 84 6 SR 39 99 1 el 8
39 T #) a9 FA ¥g o gaE 4t
Despite the complementary and supplementary relationship of line and staff,

why is there a conflict between them? Give sound suggestions to minimize this
conflict. 10+10=20

“gum Menfeh w1 FEiEER @eTes @R A ufedd IcE WAl @ wifE e gy
TeTen # 17 | § angmse )

“The implementation of information technology produces change in
organizational structure as their relationship is dynamic.” Explain in brief. 10

@Us—B / SECTION—B

5. fafafaa 3 & v &1 @ 150 w=di § 3w 4
Answer each of the following in about 150 words : 10x5=50

(a)

(b)

(c)

(d)

(e)

‘s (ZFA)’ 1 TR/ Terefa’ @ st FIe aun R’ F Hg o F Wl @l
e fifsm)

Distinguish ‘transfer’ from ‘promotion’/‘demotion’ and state the purposes of
resorting to ‘transfer’.

360° wfagfe % wR wwf=a s/@ual i 649 4 fag=m fif)
Briefly discuss the four integrated components of 360° feedback.

“yftrr 1 Ircafe IEd (SHER) T @ P F R 8§ R ol w @ wiwfE ¥ fra ®) m
FYA = e Hifs)

“Excessive turnover of labour is neither in the interest of the employer nor in
the interest of the employees.” Explain this statement.

HreRyel e wraey % fo savas smsd 6 faa= Fifm)

Discuss the essential conditions for congenial industrial relations.

s vy yeue % ITEIEl S T A
State the responsibilities of Industrial Relations Managers.

“mra e Yeg & wfd g & fafim ol & ofada gen @ ok ufeda A aw whEw anh
#ft S 1”7 39 FoR N wHEE
“The approach towards Human Resource Management has undergone

transformation through different stages and this process of transformation is
still going on.” Explain this statement. 20
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(b)

(c)

(b)

(c)

8. (a)

(b)

(c)

e fEel F froer § waghar 1 (wefid) A Fsifa f fEem fifve) o o 5

T ST ¥ I9GT 3911 H GAE i

Discuss the weaknesses of a conciliation machinery in settling industrial

disputes. Suggest suitable measures to make conciliation machinery effective.
10+10=20

489 3 gugme B %A wifa fAfRwm uirn, sie faeme w onfim @ ik oife smawasaet |
graftd B

Explain briefly how the process of job specification is dependent on job
analysis and related to job requirements. 10

“qra dEeAl % i yeeg & g e sEee FeieE o gEie ®1 38 s F wE b,
e g e 6t wew #1 favem i)
“Human Resource Planning is a prerequisite for effective management of

human resources.” In the light of this statement, analyze the significance of
Human Resource Planning. 20

“syeff Wiz srER FTH e, wEE a1 S B R, 1Y @ weE w9 Y el # g

A Ffa w0 areh B R)” e faftrt wamge, < vl wfrn 6 aghea 1 gur @)
“Recruitment process is often very strenuous, time-consuming and expensive,

as also equally frustrating from the point of view of the organization.” Suggest

the methods which can improve the objectivity of recruitment process. 20

“ura # g shefrREe geEg ke Ty w safs R R shefe aea W
VAUSTHEU % U9 I T A

“Rapid industrialization in India is heavily dependent on harmonious
industrial relations.” Explain the impact of globalization on industrial
relations. 10

AT &3 § e Ty ) el 9 FEE F1 e s Hif)

Critically examine the strengths and weaknesses of industrial relations in
public sector. 10+10=20

wid # 59 @ A g T B wWe HIY| UF Tram gn 99 % Afer @R
frefia fifs)

State the criteria for the recognition of Trade Unions in India. Also point out
the rights of a recognized Trade Union. 10+10=20

“ura 3 rfes dearsh st wwa T @ R wwerE Fife) wmfes deash i wrifafy
! g T g gamat 6 faden fifm)

“Collective bargaining in India has not been very successful.” Comment.
Discuss the suggestions to be made to make the functioning of collective
bargaining effective. 10

* k k

CRNA-S-COMA/12 4 SS23—666





